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L = S == S i}
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I 2 S MIE. NIMIE =2 O]l &b oM = A 2
200 [2 54,696,549 & 27,286,505 X 0 0]
AHSS Ol A 82,791,404 79,080,081 3,711,323  [D| 391,717 =2 416,633 1 0 ]
210 [2 54,696,549 & 22,247,320 X 0o & 0]
BXAIY 77,335,586 75,843,651 1,491,935 [2I 391,717 = 0 0 ]
307
0I2HO| A 298,070 521,330 223,260
59,384 8,930 50,454|02 DI2tAAE X
SKCHANRAESHE 2 = 9,384
(21) 9,384
o0 Z0HQI H2F2AF ALAH|l X = 50,000
(=) 25,000
(%) 25,000
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oZHUBERIBHYH 29 = 151,000
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(%) 75,500
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(%) 43,843
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72,481,018 69,662,275 2,818,743/01 X SHAMNEXZ

cESAL2Y 70,740,307
(2) 50,528,788
(=) 20,211,519
- AIE B AR 1 AH| 33,426,212,000& x 70% = 23,398,349
(2) 16,713,106
(%) 6,685,243

COIFEFAIE DR
773,284,0008 x 70% = 541,299
(2) 386,642
(%) 154,657

CSHEBSAE I

966,298,000 x 70% = 676,409
(2) 483, 149
(%) 193,260

- NHNASS R0 BES2
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(2) 20,030,362
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o IIIYEZYHMEA 29
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